



Solution of Integral of the Fourth Power of a Finite-Length Exponential Fourier Series

HESHAM SHARKAS 

Department of Laser Measurement and Navigation Systems, Saint Petersburg Electrotechnical University, St. Petersburg, Russia.

Received: 11-12-2022 • Accepted: 08-12-2023

ABSTRACT. For a periodic function in the form of a finite-length exponential Fourier series (i.e., a discrete finite Fourier transform), this work derives an analytical solution to the definite integral of the fourth power of the function across its periodic interval.

2020 AMS Classification: 46N20, 42A70, 94A12, 40H05, 30B30

Keywords: Integral of the fourth power of a finite exponential Fourier series, squared error of energies of discrete Fourier transform of two functions, L^4 -norm of finite exponential Fourier series.

1. INTRODUCTION

Let f be a 2π -periodic function in L^p space $L^1(-\pi, \pi)$. f is said to be in $L^p(-\pi, \pi)$ if its L^p -norm converges, where $\|f\|_p^p = \int_{-\pi}^{\pi} |f(x)|^p dx < \infty$. A theorem by Norbert Wiener [1] states:

Theorem 1.1. *If $f \in L^1(-\pi, \pi)$ with non-negative Fourier coefficients $c_n(f) \leq 0$ and $f \in L^2(-\delta, \delta)$ for some $\delta > 0$, then $f \in L^2(-\pi, \pi)$.*

Wiener then asked if his theorem is true if $L^2(-\delta, \delta)$ and $L^2(-\pi, \pi)$ are replaced by $L^p(-\delta, \delta)$ and $L^p(-\pi, \pi)$, where $1 < p < \infty$? Stephen Wainger showed in [5] that Wiener's theorem doesn't hold for $1 < p < 2$ and added a remark that an analogue of Wiener's theorem holds for $p = 2k$, where $k = 1, 2, 3, 4, \dots, \infty$, then he asked what happens for arbitrary $p > 2$. Harold Shapiro proved in [3] that Wiener theorem fails for $p \geq 2$ if p is not an even integer. Bonami and Révész in [2] strengthened the results of Wainger and Shapiro.

For a square-integrable function $f \in L^2(-\pi, \pi)$ (i.e., $p = 2$), Parseval identity gives the convergent value of the L^2 -norm of f in terms of its Fourier coefficients c_n , where $c_n = \frac{1}{2\pi} \int_{-\pi}^{\pi} f(x)e^{-inx} dx$, and $n \in \mathbb{Z}$

$$\|f\|_{L^2(-\pi, \pi)}^2 = \int_{-\pi}^{\pi} |f(x)|^2 dx = 2\pi \sum_{n=-\infty}^{\infty} |c_n|^2.$$

However, for $(p = 2k+2)$ there is no known mapping between $L^p(-\pi, \pi)$ and Fourier coefficient yielding the convergent value, and inequalities are used instead. The purpose of this work is to derive analytically the value of the L^4 -norm of a function $f \in L^4(-\pi, \pi)$ in terms of its Fourier coefficients if f has a finite-length discrete Fourier coefficients, and find the value of the L^4 -norm of a Fourier transform $F \in L^4(-\pi, \pi)$ in terms of values of f if f has a finite-length discrete values. Moreover, the derivation is applicable for $(p = 2k + 4)$.

2. MAPPING OF THE $L^4(-\pi, \pi)$ -NORM OF A FUNCTION TO ITS FOURIER COEFFICIENTS

Theorem 2.1. Let $f(x)$ is a complex-valued function of a real variable x ($f : \mathbb{R} \rightarrow \mathbb{C}$), and $f(x)$ is periodic and has a finite-length M Fourier coefficients as $f(x) = \sum_{a=0}^{M-1} z_a e^{iax}$, where z_a are the complex Fourier coefficients ($z_a \in \mathbb{C}$); then

$$\|f\|_{L^4(-\pi, \pi)}^4 = \int_{-\pi}^{\pi} [f(x)]^4 dx = 2\pi \sum_{a=0}^{M-1} z_a \sum_{b=0}^{M-1} z_b^* \left[\sum_{\substack{c=a-b \\ a \geq b}}^{M-1} z_c^* z_{c-(a-b)} + \sum_{\substack{c=b-a \\ a < b}}^{M-1} z_c^* z_{c-(b-a)} z_c \right]. \quad (2.1)$$

If z_a are real coefficients ($z_a \in \mathbb{R}$), then

$$\|f\|_{L^4(-\pi, \pi)}^4 = \int_{-\pi}^{\pi} [f(x)]^4 dx = 2\pi \sum_{a=0}^{M-1} z_a \sum_{b=0}^{M-1} z_b \sum_{c=|a-b|}^{M-1} z_c z_{c-|a-b|}. \quad (2.2)$$

Proof.

$$\begin{aligned} \int_{-\pi}^{\pi} [f(x)]^4 dx &= \int_{-\pi}^{\pi} \left| \sum_{a=0}^{M-1} z_a e^{iax} \right|^2 \left| \sum_{a=0}^{M-1} z_a e^{iax} \right|^2 dx = \int_{-\pi}^{\pi} \left| \sum_{a=0}^{M-1} \sum_{b=0}^{M-1} z_a z_b^* e^{iax} e^{-ibx} \right|^2 dx \\ &= \int_{-\pi}^{\pi} \sum_{a=0}^{M-1} z_a \sum_{b=0}^{M-1} z_b^* \sum_{c=0}^{M-1} z_c^* \sum_{d=0}^{M-1} z_d e^{i(a+d-b-c)x} dx \end{aligned}$$

for $a + d = b + c \implies e^{i(a+d-b-c)x} = 1$

for $a + d \neq b + c \implies e^{i(a+d-b-c)x} = e^{\pm inx}$, where $n = 1, 2, \dots, 2M - 2$

$$= \int_{-\pi}^{\pi} \sum_{a=0}^{M-1} z_a \sum_{b=0}^{M-1} z_b^* \sum_{c=0}^{M-1} z_c^* \left(\sum_{\substack{d=0 \\ a+d=b+c}}^{M-1} z_d + \sum_{\substack{d=0 \\ a+d \neq b+c}}^{M-1} z_d e^{\pm inx} \right) dx,$$

exponential terms vanish after integration as definite integral of $e^{\pm inx}$ is zero for integral bounds $x = \pm\pi$, so

$$= 2\pi \sum_{a=0}^{M-1} z_a \sum_{b=0}^{M-1} z_b^* \sum_{c=0}^{M-1} z_c^* \sum_{\substack{d=0 \\ a+d=b+c}}^{M-1} z_d = 2\pi \sum_{a=0}^{M-1} z_a \sum_{b=0}^{M-1} z_b^* \sum_{c=0}^{M-1} z_c^* \sum_{\substack{d=0 \\ d=c-(a-b)}}^{M-1} z_d,$$

for $d = c - (a - b)$, not all combinations of a , b , and c satisfy $d \in \{0, 1, \dots, M - 1\}$, so the unused combinations are excluded as below

$$\begin{aligned} 0 &\leq d \leq M - 1 \\ 0 &\leq c - (a - b) \leq M - 1 \\ a - b &\leq c \leq M - 1 + (a - b). \end{aligned} \quad (2.3)$$

However, $c \in \{0, 1, \dots, M - 1\}$, so

$$0 \leq c \leq M - 1. \quad (2.4)$$

From (2.3) and (2.4)

if $(a - b \geq 0) \implies a - b \leq c \leq M - 1$

if $(a - b < 0) \implies 0 \leq c \leq M - 1 + (a - b)$.

This further limits c to exclude the unused combinations. Consequently, d is removed and z_d is replaced by $z_{c-(a-b)}$

$$= 2\pi \sum_{a=0}^{M-1} z_a \sum_{b=0}^{M-1} z_b^* \left[\sum_{\substack{c=a-b \\ a \geq b}}^{M-1} z_c^* z_{c-(a-b)} + \sum_{\substack{c=0 \\ a < b}}^{M-1+a-b} z_c^* z_{c-(a-b)} \right].$$

In case $(a < b)$, c is shifted from $(c : 0 \rightarrow M - 1 + a - b)$ to $(c : b - a \rightarrow M - 1)$.

$$\boxed{\int_{-\pi}^{\pi} [f(x)]^4 dx = 2\pi \sum_{a=0}^{M-1} z_a \sum_{b=0}^{M-1} z_b^* \left[\sum_{\substack{c=a-b \\ a \geq b}}^{M-1} z_c^* z_{c-(a-b)} + \sum_{\substack{c=b-a \\ a < b}}^{M-1} z_c^* z_{c-(b-a)} z_c \right]}. \quad (2.5)$$

For real z_a , ignore the conjugate sign (*) so (2.5) is simplified to

$$\int_{-\pi}^{\pi} [f(x)]^4 dx = 2\pi \sum_{a=0}^{M-1} z_a \sum_{b=0}^{M-1} z_b \left[\sum_{\substack{c=a-b \\ a \geq b}}^{M-1} z_c z_{c-(a-b)} + \sum_{\substack{c=b-a \\ a < b}}^{M-1} z_c z_{c-(b-a)} \right],$$

$$\int_{-\pi}^{\pi} [f(x)]^4 dx = 2\pi \sum_{a=0}^{M-1} z_a \sum_{b=0}^{M-1} z_b \sum_{c=|a-b|}^{M-1} z_c z_{c-|a-b|} \text{ for real coefficients.} \tag{2.6}$$

Equation (2.6) was published unproved in the author’s master of science thesis [4, pp.62]. □

Theorem 2.2. Let $f(x)$ is a complex-valued function of a real variable x ($f : \mathbb{R} \rightarrow \mathbb{C}$), and $f(x)$ is discrete and has a finite-length M , and $F(x) = \sum_{a=0}^{M-1} s_a e^{-iax}$ is the Fourier transform of $f(x)$, where s_a are the complex values of $f(x)$ ($s_a \in \mathbb{C}$); then

$$\|F\|_{L^4(-\pi,\pi)}^4 = \int_{-\pi}^{\pi} [F(x)]^4 dx = 2\pi \sum_{a=0}^{M-1} s_a \sum_{b=0}^{M-1} s_b^* \left[\sum_{\substack{c=a-b \\ a \geq b}}^{M-1} s_c^* s_{c-(a-b)} + \sum_{\substack{c=b-a \\ a < b}}^{M-1} s_{c-(b-a)}^* s_c \right]. \tag{2.7}$$

If s_a are real coefficients ($s_a \in \mathbb{R}$), then

$$\|F\|_{L^4(-\pi,\pi)}^4 = \int_{-\pi}^{\pi} [F(x)]^4 dx = 2\pi \sum_{a=0}^{M-1} s_a \sum_{b=0}^{M-1} s_b \sum_{c=|a-b|}^{M-1} s_c s_{c-|a-b|}. \tag{2.8}$$

Proof. The proof follows the same steps as the proof of theorem 2.1. □

3. APPLICATIONS

One field where the identities given in theorems 2.1 and 2.2 are useful is signal processing. Frequently in signal processing there is a need to compare the energy contained in a signal in either the time or frequency domains (i.e., the square of the signal’s function) against a reference signal using the techniques of squared error (SE). In this situation, the L^4 -norm of the signal appears in the calculations (for example see [4, pp.31]) hence a closed form of the integral makes the calculations more efficient in terms of computation complexity and accuracy. For example, using the right-hand side in (2.1), (2.2), (2.7), or (2.8) makes it possible to calculate the L^4 -norm of the discrete Fourier transform or inverse discrete Fourier transform of a sequence of M complex or real numbers, respectively, using the M values of the sequence in a tractable closed form and eliminate errors occur if numerical methods are used on the left-hand side.

4. CONCLUSION

In this work, I introduced an analytical solution to the L^4 -norm of a finite discrete Fourier transform/ inverse discrete Fourier transform. The resultant identities in theorem 2.1 map between the L^4 -norm of a finite discrete Fourier transform and Fourier coefficients. Whereas the resultant identities in theorem 2.2 map between the L^4 -norm of a finite inverse discrete Fourier transform and time samples. In both cases, the solution is given in a tractable closed form.

ACKNOWLEDGEMENT

I would like to express my gratitude to the referees and the editors for their valuable revision and comments, and ultimate thanks to *Allah* almighty.

CONFLICTS OF INTEREST

The author declares that there are no conflicts of interest regarding the publication of this article.

AUTHORS CONTRIBUTION STATEMENT

The author has read and agreed to the published version of the manuscript.

REFERENCES

- [1] Boas, R.P., Entire Functions, Academic Press, New York, 1954.
- [2] Bonami, A., Révész, S. Gy, *Failure of Wiener's property for positive definite periodic functions*, Comptes Rendus Mathématique, **346**(1)(2008), 39–44.
- [3] Shapiro, H.S., *Majorant problems for Fourier coefficients*, The Quarterly Journal of Mathematics, **26**(1)(1975), 9–18.
- [4] Sharkas, H., Echigo, H., *Beamforming Solutions for Efficient Link Setup and Link Maintenance in mmWave Communication Systems*, Master's Thesis, Lund University, Sweden, 2019.
- [5] Wainger, S., *A problem of Wiener and the failure of a principle for Fourier series with positive coefficients*, Proceedings of the American Mathematical Society, **20**(1)(1969), 16–18.